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Choose one of the following subjects:

First Subject:

Language is an intellectual product.

1- Explain this judgment and state the problematic it raises. (9 points)
2- Discuss this judgment emphasizing the effect of language on thought. (7 points)
3- Do you think that the mother language can preserve its purity with

globalization? Justify your answer. (4 points)

Second Subject:

Freedom is the right to do what is allowed by law.

1- Explain this judgment of Montesquieu and state problematic it raises. (9 points)
2- Discuss this judgment in light of other attitudes that dealt with the issue of

freedom. (7 points)
3- Do you think that the oppression of people limits the freedom of expression?

Justify your answer. (4 points)

Third Subject: Text

When voluntary and free acts turn into habits, they are accomplished without effort;
therefore, the energy consumed by these acts is liberated and it becomes possible to utilize it in
other matters. The Saints' progress towards perfection is due to the increase and reinforcement
of habits.

By acquiring habits, the body ceases to be heavy and confusing, because we choose to
make of it a tool of creation, and to submit it to the mind’s project.

To manage life issues, habits have more ability than the maxims, because the habit
which is a live maxim has turned into an instinct, and a body. Reforming these maxims is not a
big issue; it is like changing the title of the book. Whereas, acquiring new habits is all what is
needed, because we would be reaching life in its core. Life is nothing but a texture of habits.

Amiel

1- Explain this text and state the problematic it raises. (9 points)
2- Discuss the thesis of the text by referring to other negative attitudes about

habits. (7 points)

3- Do you think that rebellion against social habits contributes to the positive
development of the individual? Justify your answer. (4 points)



